9/23/2021 3:16:12 PM

C:\DWG\20107\20107-R21.rvt

2 3 5 6 7 8 9 10
| ———— el el —— j fiiizt:t:t:t:ij:t:t:t:t 7777 j
-t — | | |
1] | ] — —
| ] | \ | i N | L]
| | | \‘ |
T | | [ | ‘ ‘ | |
L (E) 2x10 (E) 2x10 L | | L
\ ; ; @ 16" 0.C @ 16" O.C. | o \ | | - \
\ al | |
| o % L5x3 (C7 BRG. ‘ ! ‘ 1 ‘ \ | | 1
] S| | CONNECTION) | 1 T
(E) 2x10 @ 16" O.C. — ; N = \ 1 e (E) 2x10 (E) 2x10 ]!
REPLACE (E) JOIST W/ E9 | o | @ 16" O.C. @ 16" 0.C N |
T T ﬁZxG BOLTED TO (E) WALL §-301 o Aa-T-r-r/—7-17vT-rr0——"-T7T-r—-— - T-T— - T-T-rr1—T-T-rr|—7—-—T-rr—"7—-"T-T-—1—T-T-rF—1—7T— - /» ————
R B N P — — “OPP— %1 (E)CT ' “ — /|
‘ T~ —— — — — — —_— — — T " — — T — — — p— — : H—1— //““
| — REPLACE Inu (E)CB (B)C6 (E)CB (E)C6 (E)CB 8 /|
| / ROOF SHTG. — — Vo
| B \RYRTRRARN TR NN — T
s / ‘
o0 4v / ‘
F9 (:’-\:\ /  i i ‘
T X S
) & At
(E)CT L
(E)C6 T (E)CH - (E)C6 I (E)CP [l (E)C6 [T (E)Ch — 1 — | 7 T T 1 1 1T |+ 7‘
- = / // S B o ‘/’/7 ] ’:
I | REBUILD / |/
(E)C12X20.7 T G (E) MASONRY +— |
<e|g @ BEAM BRG |
) 7
S5 Ho | |
(E)C12X20.7 MRS
® ' | }
| (BE)CT | 5 |
— T - g - T i | o|G |
(E)C6 (E)CB (B)C6 (E)CB (E)C6 (E)C6 ¥ P Mo |
[ ] T S s - ‘ ‘
\ a
- | REPLACE (E) JOIST W/ , 2, I
\S-301/ (E) 8+2 PAN JOISTS NN 2x6 BOLTE(D )TO (E) WALL | REPLACE (E) LEDGER 7 P ’ }
‘\‘:\\‘\ 4o gn ‘ (05°] // | A P ‘
Nea? S-301 (E) 2x10
REPAIR ENDS OF . - REPLACE || @16"0.C | |
4-CONC. JOISTS e | ROOF SHTG. L \ 0c |
— ) ' L\ (E)C6 (E)Ch (E)CB &) (E)Ch (E)C6 (E)C6 L[] (E)2x10 N NOTE 2 | Eydxa2 |
! L — 1 — - / - IR \
V4 ) N w N N \
(E)C12X20:7 [ —REBUILD (E) (BE)CT " 2 REBUILD /‘ | NOTE 3. \ | \
l @ WL MASONRY o9 3 0 a ¥ (E) MASONRY || A \ | |
(sa01) @ BEAM BRG. § 2 § v I @ BEAM BRG i \N |
w\\:\\‘\ t\ — — “\ \\\\ Vs ~
REPAIR SLAB W/ J UI_E m) E = | I: ’ |
EXPOSED REINF. T A | /|
[N CANTILEVER LEDGER N |
« | REPLACE (E) JOIST W/ | \[ 'S :
2x6 BOLTED TO (E) WALL | TP SUPPORT JOIST s N Q 3 }
= AN | =
(E)C6 (E)CB (B)C6 i (E)36 (E)C6 i (E)C6 (E)2-2410 j-[_ B m é }
| BT REPLACE SHTG. |
_ \ |
(E)C12X20.7 3 +=—(E)STUD % |
o|o BRG. WALL \ |
S | |
© (E)C12X20.7 DS REBUILD o
* (E) MASONRY \ TN
g @ BEAM BRG — jy }
w (E)C6 (E)Ch (E)C6 (E)d6 (E)C6 (E)CH | A Lo
N (E)CT
\ /@U;))L
N ] X
E) 2x10 @ 16" 0.C. —
Haane ™ REPLACE N
~ ROOF SHTG. = : IREE (E)C6 (E)C6 (E)C6 (E)C6 (E)C6 X uml =y
CUT BIRDSMOUTH IN , i m — /
2x12 VALLEY TO BEAR :IIZI:I'AV(\:/I/E 2(51)0 I_I \ T E)CT = = ng I
ON (E) WOOD PLATES —— X \ \
(® L BOLTED TO ) WALL &30V |/ ¢E9 - V- - - V- - - - | L & S
— (E)2x10 @ 16" O.C.
} ADD FRAMING ANCHOR &Il (E) 2x10 J % — ‘ - % Fzave
AT CONN. TO RIDGE . E) 2x10 E) 2x10
| WHERE GAP IS L5x3 (C7BRG. ~ @1670.C. | 1 ) 2x () 2 1
| GREATER THAN 1/4" CONNECTION) | B @ 16" 0.C. @ 16" O.C. ]
} REPLACE (E) VALLEY BEAM W/ 2x12 TRTD. } { | | ] :
| (E) 2x10 o | mE —
| @ 16" O.C. N | PLAN NOTES | — - |
LL
= \
} { 1. REMOVE AND REPLACE EXISTING 2X10 JOIST FROM LEDGER AT MASONRY WALL TO EXIST. STUD BRG. WALL. l L L
\
| i_i i_i ‘ 2. AT CONTRACTOR’S OPTION, EITHER REMOVE AND REPLACE EXISTING 2X10 JOIST FROM LEDGER AT MASONRY ‘L '_Lh }
7777777777777777777777777777777777 WALL TO EXIST. STUD BRG. WALL, OR ADD 2X10 SISTERED JOIST PER DETAIL. IF JOIST IS REMOVED AND REPLACED, THE o
ROOF SHEATHING SUPPORTED BY THE JOIST SHALL ALSO BE REPLACED.  \ S-301
3. REMOVE EXIST. INSULATION AND EVALUATE CONDITION OF EXIST. ROOF SHTG. NOTIFY ENGINEER,
REPLACE SHTG. IF NECESSARY.
4. SEE DETAIL WHERE ROOF SHEATHING IS TO BE REPLACED.
S-301
F2 ROOF FRAMING PLAN
1/4" = 1'-0"
ARC H ITECT/E N G I N E E R O F RECO RD S Drawing Title Phase Project Title Project Number
TAWP | i A7-21-1
o Office of ROOF FRAMING PLAN 31D DOCUMENTS Renovate and Repair Structural, 589 08
Alesia Architecture P.C. ildi
e e ecture . \ SHAFFER OnStrU.C.tllon Building 4 Building Number
) Elkhorn, Nebraska 68022 ’, ST E V E N S and FaC”ItIeS 4
Phone: 402.291.6941
ARCHITECTURE - :
IMEG Corp. M N m nt Approved: Location Drawing Number
15 Sunnen Drive, S C H A A P a age e W|Ch|ta KS
Suite 104 _ ’
St. Louis, MO 63143 STRUCTURAL ENGINEERS FULLY SPRINKLERED |
; ssue Date Checked Drawn
Phone: (314) 951-2534 9910 North 48th Street, Ste 204, Omaha, NE 68152 U.S. Department S- 1 O 1
Revisions: Date: 402.455.7698 www.s3pc.com of Veterans 9/23/2021 DRS MGJ
Affairs
VA FORM 08 -
6231 2 3 5 | 6 | 7 8 | 9 10




9/23/2021 3:16:57 PM

C:\DWG\20107\20107-R21.rvt

GENERAL STRUCTURAL NOTES

DESIGN CRITERIA:

DESIGN CODE:

SNOW LOAD:
GROUND SNOW LOAD
EXPOSURE FACTOR
IMPORTANCE FACTOR
RAIN ON SNOW (SLOPE =<1/2:12)

WIND LOAD:
BASIC WIND SPEED
EXPOSURE CATEGORY

SEISMIC LOAD:
Ss
S1
IMPORTANCE FACTOR
SOIL PROFILE TYPE
SEISMIC DESIGN CATEGORY

DELEGATED DESIGN ITEMS:

2021 1BC

Pg =20 PSF
Ce=1.0
1=1.0
=5PSF

V=110 MPH
B

=0.091
=0.055
=1.0
=8D
=B

A. THE CONTRACTOR SHALL BE RESPONSIBLE FOR THE DESIGN OF THE FOLLOWING
ITEMS (PERFORMED AND STAMPED BY A STRUCTURAL ENGINEER LICENSED IN THE

STATE OF KANSAS.

- PRIMARY NON-STRUCTURAL ELEMENTS AND THEIR ATTACHMENTS THAT ARE
ESSENTIAL FOR LIFE-SAFETY SYSTEMS OR ELEMENTS THAT CAN CAUSE
SUBSTANTIAL INJURY IF FAILURE OCCURS, INCLUDING OVERHEAD HEAVY
SUSPENDED COMPONENTS OR FIXTURES WEIGHING MORE THAN 31 LBS, BUT
EXCLUDING DISTRIBUTED SYSTEMS SUCH AS SUSPENDED CEILINGS OR PIPING
NETWORKS, SHALL BE ANCHORED WITH LATERAL TIES CAPABLE OF RESISTING A
FORCE OF 1.5 TIMES ITS WEIGHT APPLIED IN ANY DIRECTION. MOUNTINGS MUST
ALSO BE DESIGNED FOR FORCES REQUIRED BY OTHER CRITERIA SUCH AS

SEISMIC STANDARDS.

- MISCELLANEOUS EQUIPMENT SUPPORTS (E.G., FOR HANGING TRANSFORMERS)

B. FOR ALL ITEMS LISTED AS DELEGATED-DESIGN ITEMS, STAMPED ENGINEERING
CALCULATIONS SHALL BE SUBMITTED FOR REVIEW AT THE SAME TIME THAT
RELATED SHOP DRAWINGS ARE SUBMITTED FOR REVIEW.

GENERAL PROJECT NOTES

1. ALL DIMENSIONS AND CONDITIONS SHOWN ON THE DRAWINGS SHALL BE VERIFIED BY
THE CONTRACTOR PRIOR TO FABRICATION OR CONSTRUCTION.

2. THE ARCHITECT SHALL BE NOTIFIED IN WRITING OF ANY EXISTING CONDITIONS WHICH
DIFFER FROM THOSE SHOWN ON THE CONTRACT DOCUMENTS.

3. THE ENGINEER WILL NOT ACCEPT SHOP DRAWINGS WITHOUT FIRST BEING REVIEWED
AND SIGNED BY THE CONTRACTOR. ALL CHANGES SHALL BE FLAGGED AND NOTED AS
DEVIATING FROM THE CONTRACT DOCUMENTS.

4. THE CONTRACTOR SHALL BE RESPONSIBLE FOR THE PROTECTION OF THE EXISTING
BUILDING DURING THE EXECUTION OF THE CONTRACT.

5. THE CONTRACTOR SHALL PROVIDE AND MAINTAIN ADEQUATE SHORING AND BRACING
TO PROTECT THE EXISTING STRUCTURE AND UNFINISHED NEW CONSTRUCTION.

CONCRETE AND REINFORCING STEEL:

1. CONCRETE WORK SHALL CONFORM TO ALL REQUIREMENTS OF ACI 301
"SPECIFICATIONS FOR STRUCTURAL CONCRETE FOR BUILDINGS" UNLESS NOTED

OTHERWISE.

2. ALL REINFORCING STEEL SHALL BE ASTM A-615, GRADE 60.

MASONRY:

1. ALL MORTAR SHALL CONFORM TO ASTM C-270, TYPE S OR M.

2. MORTAR ADMIXTURES ARE NOT ALLOWED WITHOUT APPROVAL OF THE ENGINEER.

STRUCTURAL STEEL:

1. STRUCTURAL STEEL SHALL BE DESIGNED, FABRICATED AND ERECTED IN
ACCORDANCE WITH THE AISC "SPECIFICATION FOR STRUCTURAL STEEL BUILDINGS" AND
THE "CODE OF STANDARD PRACTICE FOR STEEL BUILDINGS AND BRIDGES", LATEST

EDITIONS.

2. ALL WIDE FLANGES SHALL BE ASTM A992, GRADE 50, UNLESS NOTED OTHERWISE.
CHANNELS, ANGLES AND PLATE MATERIAL SHALL BE ASTM A36.

3. ALL WELDING SHALL BE PERFORMED BY CERTIFIED WELDERS IN ACCORDANCE WITH

AWS D.1.1, LATEST EDITION.

4. ALL WELDS SHALL BE MADE WITH E70 ELECTRODES.

STRUCTURAL LUMBER AND CARPENTRY:

1. ALL STRESS GRADES AND DESIGN CRITERIA SHALL BE BASED ON THE NATIONAL
DESIGN SPECIFICATION (2018 EDITION), TABLE 4A, PUBLISHED BY THE AMERICAN WOOD

COUNCIL.

2. STRUCTURAL FRAMING LUMBER SHALL BE #2 SOUTHERN YELLOW PINE, TREATED.

3. PROVIDE TREATED MEMBERS IN CONTACT WITH CONCRETE OR CMU.

4. ALL LUMBER SHALL HAVE A MOISTURE CONTENT NOT GREATER THAN 19% AND SHALL

BE SMOOTH ON ALL 4 SIDES (S4S).

5. PROVIDE ONE HEAVY GALVANIZED WASHER UNDER ALL BOLTS WHERE A PLATE

WASHER IS NOT SHOWN.

6. ROOF SHEATHING SHALL BE 23/32” PLYWOOD, SHALL BE APA RATED, AND SHALL HAVE
AN EXPOSURE CLASSIFICATION OF EXPOSURE 1.

7. ROOF SHEATHING SHALL BE LAID WITH LONG DIMENSION ACROSS FRAMING MEMBERS

AND WITH SHORT DIMENSION PANEL EDGES CENTERED ON A FRAMING MEMBER.
SHEATHING SHALL BE NAILED WITH GALVANIZED 12d NAILS AT 4" O.C. AT ALL PANEL
EDGES SUPPORTED BY FRAMING MEMBERS AND AT 4" O.C. AT ALL INTERMEDIATE

FRAMING MEMBERS.

8. ALL METAL HANGERS AND CONNECTIONS SHALL BE MANUFACTURED BY SIMPSON

COMPANY OR AN APPROVED EQUAL.

9. ALL FASTENERS (NAILS, BOLTS, ETC) IN TREATED LUMBER SHALL BE GALVANIZED
UNLESS THE SUPPLIER REQUIRES THEM TO BE STAINLESS STEEL. THE CONTRACTOR
SHALL VERIFY THIS REQUIREMENT. ALL LIGHTGAGE HANGERS, STRAPS AND TIES WHICH
ARE IN CONTACT WITH TREATED LUMBER SHALL BE GALVANIZED.

FASTENERS:

1. ALL EXPANSION ANCHORS SHALL BE THE SIZE AND EMBEDMENT AS SHOWN ON THE
DRAWINGS. WHEN EMBEDMENT IS NOT SHOWN ON THE DRAWINGS, THE EMBEDMENT
SHALL BE THE STANDARD EMBEDMENT AS RECOMMENDED BY THE MANUFACTURER.

2. THE PLACEMENT OF EXPANSION BOLTS IN MASONRY HEAD JOINTS OR 'T' JOINTS SHALL
BE AVOIDED IF POSSIBLE. EXPANSION BOLTS SHALL HAVE A MINIMUM OF 8" OF GROUT

AROUND ALL SIDES OF THE BOLTS.

3. APPROVED EXPANSION ANCHORS SHALL BE:
a. KWIK BOLT 3 EXPANSION ANCHOR BY HILTI,
b. TRUBOLT WEDGE ANCHOR BY ITW RAMSET / REDHEAD,

c. OR AN APPROVED EQUAL.

4. ALL ADHESIVE ANCHORS SHALL BE THE SIZE AND EMBEDMENT AS SHOWN ON THE
DRAWINGS. WHEN EMBEDMENT IS NOT SHOWN ON THE DRAWINGS, THE EMBEDMENT
SHALL BE THE STANDARD EMBEDMENT AS RECOMMENDED BY THE MANUFACTURER.

5. APPROVED ADHESIVE ANCHORS SHALL BE:

a. HY-200 INJECTION ADHESIVE ANCHOR INTO SOLID CONCRETE OR SOLID

MASONRY BLOCK, BY HILTI,

b. HY-70 INJECTION ADHESIVE ANCHOR WITH SCREEN TUBE INTO HOLLOW
MASONRY BLOCK OR SOLID BRICK WITH VOIDS, BY HILTI,

c. EPCON ADHESIVE ANCHOR SYSYEM WITH CERAMIC 6 EPOXY INTO SOLID
CONCRETE OR SOLID MASONRY, BY ITW RAMSET / REDHEAD,

d. EPCON ADHESIVE ANCHOR SYSYEM WITH CERAMIC 6 EPOXY WITH SCREEN
TUBES INTO HOLLOW MASONRY BLOCK OR SOLID BRICK WITH VOIDS, BY ITW

RAMSET / REDHEAD,
e. OR AN APPROVED EQUAL.

DEMOLITION:

1. PRIOR TO REMOVAL OF THE EXISTING SUPPORTING STRUCTURE, ADEQUATELY SHORE
THE EXISTING PORTIONS SO THAT NO MOVEMENT OCCURS. MAINTAIN THE EXISTING
LINES AND ELEVATIONS AFTER PERMANENT SUPPORTS ARE IN PLACE.

WHERE ROOF SHTG. MUST BE
/REPLACEVD, REMOVE TO CL OF JOIST

" " 'T(E) ROOF SHTG.

T~

{

|~ (E)ROOF JST.——= |

ROOF SHTG. REPLACEMENT DET.

AB 11/2" =1'-0"

(E) ROOF SHTG. (MAY
REMAIN IF IN ACCEPTABLE
CONDITION)

) )

1 1

12d NAILS @ 4" O.C,,

(E) 2x10 —= | STAGGERED

/[

SISTERED 2x10

SISTERED JOIST DET.
11/2" =1'-0"

B6

((E) CONC. SLAB

(e

REMOVE ALL LOOSE OR
DELAMINATED CONC.

USE PATCHING MORTAR
SPECIFIED FOR JOISTS TO BUILD

SLAB OUT TO ORIGINAL LINES (E) SLAB REINF. WIRE BRUSH TO

REMOVE CORROSION.
SLAB REPAIR DETAIL

3" — 1'_0"

C6

(E) MASONRY WALL — =

(E) C7 BEAM T‘

REBUILD

(E) MASONRY
@BEAMBRG.— |

A8

BEAM BRG. DETAIL

11/2" =1'-0"

3/4" ROOF SHTG. ———=

2X10 TRTD., BOLT TO WALL

1/2" @ HIT-HY270 ADH. ANCHORS BY
HILTI W/ HAS THREADED RODS W/
7 1/8" EMBED AND SCREEN TUBES

LS90 SKEWABLE ANGLE BY
SIMPSON W/ 12-0.148x 1 1/2" NAILS

2x12 VALLEY, TRTD.

VALLEY BEAM CONN. DETAIL

c8 11/2" =1'-0"

(k1)
30y

Q EXIST.

MASONRY
WALL

CANTILEVER BOTH LEDGERS

LiTO FACE OF (E) 2x10 JOIST. USE

/

8'-0" MIN. LENGTHS OF LEDGERS

'« | —————————LEDGER BRG. ON
MASONRY LEDGE

- — 2x12LEDGER _—(E)2x10

12-16d NAILS

2-A35 FRAMING ANCHORS
BY SIMPSON
W/ 12-0.131x1 1/2" NAILS

2-5/8" @ THROUGH BOLTS

SDS SCREWS BY SIMPSON —REMOVE &

/4-1/4" J x 8" STRONG DRIVE

e REPLACE

TAPERED
WASHER

EA.END — |

(E) 2x10

SOLID BLKG., FULL DEPTH
OF JOIST

(E) RIDGE

(E) 2x10

FRAMING DET. @ RIDGE

E 11/2" =1'-0"

S

4-1/4" @ x 8" SDS SCREWS

2-5/8" @ THRU-BOLTS

RIDGE AND JOIST

(E) RIDGE

ELEVATION DETAIL @ R

SOLID BLKG BTWN >
/

f ROOF SHTG. NOT SHOWN FOR CLAR”—YN

A35 FRAMING ANCHOR I

12-16d NAILS

A e —————

(E) 2x10 JOISTS ——=

r<+——REMOVE &

REPLACE

(E) 2x10 JOIST

EDGE OF (E) WALL —=

IDGE

DBL LEDGER

\

Fr 11/2" =1'-0"

(E) CONC. JOIST

1/2" MIN.
Ul

REMOVE DELAMINATED CONC.
® ©o

REBUILD JOIST W/ PATCHING MORTAR

REPAIR PROCEDURE:

1. REMOVE ALL DELAMINATED CONCRETE. REMOVE MIN. OF 1/2" OF CONCRETE
ON ALL SIDES OF EXPOSED BARS.

2. SANDBLAST OR WIRE BRUSH REINFORCING TO REMOVE ALL CORROSION.

3. VERIFY THAT NO MORE THAN 1/16" OF DIAMETER OF ANY EXPOSED BAR IS
NOT LOST TO CORROSION.

4. APPLY SIKATOP 123 PLUS OR EQUAL PATCHING MORTAR TO REBUILD SECTION.
PROVIDE 3/4" MIN. COVER. JOISTS MAY HAVE TO BE REBUILT TO DIMENSIONS
LARGER THAN ORIGINAL TO ACHIEVE REQUIRED COVER.

CONC. JOIST REPAIR DETAIL

Bg 3" = 1'_0"

2x TRTD. LEDGER, TRIM AS REQ'D TO BEAR
ON MASONRY LEDGE & SUPPORT ROOF SHTG.

( (E) MASONRY WALL

2x12 TRTD. LEDGER

1/2" @ HIT-HY270 ADH. ANCHORS BY
HILTI @ 16" O.C. W/ HAS THREADED
RODS W/ 7 1/8" EMBED. & SCREEN TUBES

LRU210Z JOIST HANGER
BY SIMPSON

(E) ROOF SHTG.,
REPLACE AS REQ'D

(E) ROOF JOISTS @ 16" O.C.
SHORE JOISTS AS REQ'D

JOIST CONNECTION DETAIL

C9 11/2" =1'-0"

A35 FRAMING ANCHOR
BY SIMPSON, 1-EA.
SIDE, STAGGERED

(E) 2x RIDGE

(E) ROOF SHTG.

FRAMING
ANCHOR,
FAR SIDE

(E) ROOF

JOISTS
@ 16" O.C. _

JOIST CONNECTION DETAIL
11/2" =1'-0"

D9

3-SIDES

(E) C7

L5x3x1/4 (LLV) @ WEST

SIDE OF (E) L6x4 W/
5/8" @ EXP. ANCHORS

(E) L6x4x3/4x5" (E) CONC. SLAB
AN ,
| harf / |

@ (E) C7 CONNECTION DETAIL
11/2"=1-0"

/ (E) MASONRY WALL
- REPLACE (E) ROOF
SHTG., SEE FRAMING
PLAN FOR EXTENT

(
)
/

~———————2x6 TRTD. W/ 1/2" &
HIT-HY270 ADH. ANCHORS BY
HILTI @ 24" O.C. W/ HAS
THREADED RODS W/
7 1/8" EMBED. & SCREEN TUBES

FRAMING DETAIL
11/2" =1'-0"

F9

ARCHITECT/ENGINEER OF RECORD

STAMP Office of

ALESIZA

Revisions:

Date:

Alesia Architecture P.C.
3705 North 200th Street
Elkhorn, Nebraska 68022
Phone: 402.291.6941

SIMEGC

SHAFFER
STEVENS
Iié%i;%}fbrive, SC H A/A\ P

St. Louis, MO 63143 STRUCTURAL ENGINEERS
Phone: (314) 951-2534 9910 North 48th Street, Ste 204, Omaha, NE 68152

402.455.7698 www.s3pc.com

Construction
and Facilities

Drawing Title

GENERAL STRUCTURAL
NOTES & DETAILS

Phase

BID DOCUMENTS

Project Title Project Number

Renovate and Repair Structural, 989A7-21-108

BU|Id|ng 4 Building Number
4

U.S. Department
VA of Veterans
Affairs

Management  |[Approved:

FULLY SPRINKLERED

Location Drawing Number
Wichita, KS
Issue Date Checked Drawn S_ 30 1
9/23/2021 DRS MGJ

VA FORM 08 -
6231




8/10/2021 9:26:34 PM

BIM 360://2021-03 589A7-21-108 - Renovate and Repair Structural Building 4/R21-202103.rvt

1 2 3 4 5 6 7 | 8 10
FASTENER SCHEDULE (EXTERIOR PLATE / INTERIOR BOARD TO FRAMING)
%éﬁb SIDE OF WALL CONNECTORS CONNECTOR SPACING
%RAELKANGE 1264 812 TEKS SCREWS 6" EXTERIOR 412 TEK SCREW 6" 0.C. TO TRACKS TOP AND BOTTOM
A 16T 0.0 TYP. . 8" NOT AT JOINTS 6” 0.C. TO STUDS FROM BOTTOM TO 1/4H
#12 TEKS SCREWS ’ ﬁT 187 0.0 Typ 12 5 0.C. TO STUDS AT 1/4H TO 3/4H SPAN
AT 6”7 0.C., TYP. e ' 6" 0.C. TO STUDS AT 3/4H TO TOP OF WALL
EXTERIOR #12 TEK SCREW )
STUDS WITH EQUAL . AT VERTICAL S 0.C. AT ALL VERTICAL JOINTS USING STRAP LAP REFER TO DETAILS FOR BLAST WALL
NOM. DEPTH TRACKS STUDS WITH EQUAL NOM. (2) #12 SCREW AT & JOINTS PLATE SHOWN ON ELEVATION INFORMATION NOT SHOWN THIS DETAIL
DEPTH TRACKS 0.C. .
(2) #12 SCREW (2) #12 SCREW STRAP (INSIDE FACE) AND 4" 16 GA STRAP OR 1.57 o fa
AT 6" 0.C. BLOCKING, REFER TO LONG BUTT WELD AT 6~ g L g4 .
» ) e CONT. 12GA. TRACK WITH 2" FLANGES, DO
AT 67 0.C. DIAGRAM O.C. AT ALL VERTICAL DET,,AE‘; BLAST WALL CONSTRUCTION REQUIRES M TH\ NOT CONNECT TRACK TO STUDS. ATTACH
POST STUDS JOINTS CONTINUOUS INSPECTION BY LICENSED A TRACK TO CONCRETE WITH HILTI 17770 x 1
REFER TO HEADER REFER TO HEADER SEE ELEVATIONS FOR —— ENGINEER OR CERTIFIED ICC CODE SPECIAL , - »
1/4” EMBED (ICC—ESR 1663) AT 12" 0O.C.
HEADER, REFER TO SCHEDULE FOR NUMBER OF  SCHEDULE MEMBER SIZES QUANTITY 7 / X INSPECTOR STAGGERED
SCHEDULE STUDS AND TRACKS FOR NUMBER OF STUDS : # . . / VA
REQUIRED. AND TRACKS REQUIRED. || ~[=lUH
BLAST WALL PROVIDE STIFFENERS e I i = REFER TO DETAILS FOR CONNECTION OF HILTI 177" x 1 1/4” EMBED (ICC—ESR 1663)
. X -
HEADER ASSEMBLY BLAST WALL BUILT=UP JAMB ASSEMBLY EACH STUD PER BLASK . / WALL AT TOP (DEFAULT: 12 GA AT EACH OUTER HOLE AND CENTER HOLE OF
WALL BASE DETAIL. \ ME Q DEFLECTION TRACK WITH (2) #12 EACH SL600 DEFLECTION CLIP (3) TOTAL
~N
SIDE TRACK TO STUD
HEADER AND JAMB SCHEDULE ~ (1) #12 SCREW AT NS N ) VERTICLIP SL600 DEFLECTION CLIP AT EACH
BROVIDE ANCHORAGE + EACH FLANGE 6" o T - 250S162—54 WEB STIFFENERS AT 17 AND STUD, CONNECT WITH (3) #12 TEK SCREWS
WALL = 6” FROM TOP OF STUD FIT TIGHT TO CLIP TO STUD.
WiDTL |CLEAR SPAN (W) HEADER JACK STUD KING STUD (1 PER STUD IN KING 0.C. = NGRS AND ATTACHED TO STUD Wit ”
GROUP) PER DETAIL "A” n 6 STUD — BLAST RESISTANT WALL
BLAST WALL BASE DETAIL _ (2) #12 TEK SCREWS ASSEMBLY, SEE BLAST WALL DETAILS
- (OTHER COMMERCIAL WEB STIFFENERS
6 UP TO 7'—-2" (3)-600S162—54 | (2)—600S162-54 | (3)—600S162—54 = : q ACCEPTABLE IF APPROVED BY ENGINEER) SETAIL A
— — — — —— — | — N N
2) #12 SCREW AT Ly _ L — 1 —— +— — N —
NOTES: <EA>CH# FLANGE o — U1l STANDARD PUNCHED HOLES WALL CONNECTION AT TOP TRACK
1. USE HEADER SCHEDULE ABOVE, UNLESS NOTED OTHERWISE ON PLANS. = ACCEPTABLE FOR USE IN EXTERIOR WALLS
2. BLAST WALL HEADERS SHALL INCLUDE (3)-600T200—54 TRACK SECTIONS AS SHOWN. TRACK S CTERIOR SHEATHING JOINT CENTER
S. 0 HEADERS SHALL BE BUILT=UP USING UNPUNCHED ™ SECTIONS. T , PANEL AT MID—HEIGHT TO kEEP JOINT STEEL PLATE AT EXTERIOR
4. BLAST WALL JAMBS SHALL INCLUDE NESTED 600T150—-54 TRACK SECTIONS WITH KING STUDS AS SHOWN. L 1 PROVIDE STRAP AND
o FROM CENTER OF STUD HEIGHT WHERE FACE
 LANGE 190m = < MAXIMUM MOMENT OCCURS SLOCKING AT WD HEIGHT
2”7 FLAN e
[ Track DETAIL "B” STUD GROUP TO TRACK - S Nn o T
\ 2 O WALLS DESIGNED FOR 16GA TRACK BLOCKING AT 6’
O BLAST RESISTANCE /o.c‘ MAX., CUT EACH END
e || N = . TO BEND UP AND CONNECT
TR e RS CONTINUE (1) JACK STUD ABOVE . _ STAGGER PUNCHOUT HOLES FROM EXTERIOR - 0 TO STUD AS SHOWN
DETAIL L ’ HEADER, CONNECT 1ST JACK n [ I R LA | I I ] PANEL HORIZONTAL JOINTS, DO NOT LOCATE HOLE -
=T REFER TO STUD TO KING STUD GROUP =N e | e —— — I ————— — 4 AT MIDPOINT L, /<2> #12 TEK SCREWS
SCHEDULE ABOVE AND BELOW HEADER WITH g = — EACH SIDE
»/ CONT. TOP TRACK L (4) #12 TEK SCREWS LONG ¥ = | |F—
( A - g REFER TO DETAILS T ENOUGH TO PENETRATE SECOND = y \jé 5
— 1" i STUD BACK ]
< I\ 5 =g | — <=-STUD WALL, m —] : M E/+*<*:/
~JI \\ﬂ\ SEE BLAST WALL 0 = AT MID AND QUARTER HEIGHT LOCATIONS ALONG WALL /§S< 3" 16 GA STRAP CONT.
DETAILS FOR STUD HEADER, TRACK TO KING GROUP WITH (2 . <« HEIGHT (3 LOCATIONS) CONTINUOUS 3" 16GA STRAP ON L — ~U
< > o ) » C/
DETAIL INFO REFER TO . /#Q TEK SCREWS FOR FACH 2" S q ~ INSIDE FACE WITH 16GA TRACK BETWEEN STUDS AT 6 -0 g
’ /\
. HEADERS AT TOP ENOUGH TO PENETRATE SECOND L) A = B - STRAP TO BLOCKING
AND BOTTOM OF TRACK WITH 1 STUD BACK = L (5) #12 TEK SCREWS
: = OPENINGS AT BLAST 2" FLANGES 4 | ™~ TRACK FA. END, CONNECT TO 0 STRAP TO STUD
——————11|| BLAST WALLS, TYP. — 1 A HEADER WITH (1) #12 SCREWS 5
: 1 FACH SIDE FOR EACH 2” HEADER % I N L ] | A | N N — EXTERIOR SIDES: 16GA. PLATE, REFER TO
AR TO DETAL TRACK - DEPTH, ) — —] — T — ) U ARCH FOR POSSIBLE COMPOSITE PANEL INTERIOR VIEW AT STRAP_AND BLOCKING
" WITH ONE TOP TRACK WITH 27 FLANGES AT = i PRODUCTS BONDED TO PLATE.
BOTTOM JACK STUD JACK STUDS WITH (2) #12 TEK = .
MmN, T UNDER HEADER Each  JACK STUD(S) SCREW TO STUD EACH FACE v [ )
AN i e e SDE OF OPENING AND (2) SCREWS TO HEADER i : B00S 16954 AT 16" 0.0 TRACK TO CONCRETE: 3/4” DIAMETER
W ~ W : ~LL- EACH STUD L 1 o SEISMIC RATED EXPANSION ANCHORS AT
L] i (8005162 AND 120S162 AS REQUIRED, SEE DETAILS) :
o % . I 16" 0.C. WITH OVERSIZE PLATE WASHERS
JLIAL DETAL A KING STUD(S) J . I . AND 4" MINIMUM EMBEDMENT, LOCATED
B D1/S—003 T - S 250S162—54 WEB STIFFENERS AT 17 AND . ’
A e I 6" ABOVE BOTTOM OF STUD FIT TIGHT TO WITHING 47 OF EACH STUD
DETAIL A~ OPENING FRAMING ELEVATION DETAIL C° BLAST WALL HEADER DIAGRAM I O DETAIL S ANCES AND ATTACHED 1O <TUD WiTh
BLAST WALL DETAILS TAKE PRECEDENCE i A (2) #12 TEK SCREWS
REFER TO BLAST WALL DETAILS FOR OVER TYPICAL LICHT GCAGE WALL dy <OTHER COMMERCIAL WEB STIFFENERS ATTACH STUD TO TRACK WITH <2> #WQ
FASTENER SPACING FOR METAL WALL OPENING DETAILS WHEN IN QUESTION | : % amit ACCEPTABLE IF APPROVED BY ENGINEER) TEK SCREWS EACH SIDE
PANELS TO LIGHT GAGE FRAMING \ \ } || | | [ lE—i\
MEMBERS REFER TO BLAST WALL DETAILS FOR \ \ L
ADDITIONAL CONNECTIONS NOT SHOWN -_ 800720097 CONTINUOUS TRACK DETAIL A

@LIGHT GAGE DETAILS FOR OPENINIGS IN NON-STRUCTURAL BLAST RESISTANT WALLS

3/411=11_011

EXTERIOR VIEW

BLAST WALL DETAILS AT PERIMETER LIGHT GAGE WALLS AT FIRST FLOOR

WALL SECTION

(8007200 OR 1207200 AS REQUIRED,

SEE DETAILS)

WALL CONNECTION AT BOTTOM TRACK

(&

3/4”=17_OH

SEE BLAST WALL DETAIL FOR TOP
CONNECTION, ACCEPTABLE TO CONNECT
STUD TO BOTTOM OF SLAB

IF ALIGNMENT

0005162—-54 CEILING JOISTS AT

167

0.C., TYP., ATTACH TO STUDS WITH (4)

7] OF STRUCTURE IS NOT AS SHOWN 412 TEK SCREWS EACH END
% ‘ 600S162—54 CEILING JOISTS AT 167
e _ , \ - O0.C., TYP., ATTACH TO STUDS WITH (4)
}Zj — SEFFAE P — D z/ #12 TEK SCREWS EACH END — : : - — i ——
8 ISR | »
28 PR CONNECT END JOIST TO STUD WALL WITH j \ - .
0 DR : A 16 GA. PLATE INTERIOR FACE OF STUD
[Z el (3) #12 TEK SCREWS EACH STUD WALLS AND FALSE CEILING FRAMING,
% PR e HEADER, SEE DETAILS L — — PROVIDE CONTINUOUS LIGHT GAGE ANGLE
74 RO ] T L AT CORNERS AND CONNECT WITH #12
}Z]"\f%‘f ———E e e e e e e e = =1 T~ - - - - = | TEK SCREWS AT 127 O.C.
2 g \ \ | | |
e N | I I
e Y S S S - 3 [ b - - j
ol | | |
Te I I
16GA. PLATE, SEE BLAST | | \
WALL DETAIL FOR | Y | == 1
TYPICAL CONNECTIONS, | / | S == ‘I—“E“—T .
PROVIDE CENTER LINE OF | / | = = — — — - — Fo=-o=— =8 600S162—54 WALL STUDS AT 16 0O.C.,
SLOCKING | / | m N TYP. AT VESTIBULE PERIMETER. INSTALL
: // : e e f = =====9 STUDS FULL HEIGHT TO STRUCTURE.
v !y
STUD ADJACENT TO | g | — /) 600S162—54 CEILING JOISTS AT 16
CONNECT TO BEAM | | 1 /// #12 TEK SCREWS EACH END
| | L =~
| | ——\j\:/:::::::::::_f/—
| | - SECURITY
| | SCREEN
: \\ : @__:::::::::::::::_ —
| N . | R
| N |
| N ]
| N |
| N |
| N |
I N I
| | ] C = 1]
_ | | | ! A ;
Vestibule Section 02 Vestibule Section 01 BASEMENT - VESTIBULE
3/4" = 1'-Q" 3/4" = 1'-0" 1/2" = 1-0"
Drawing Title Phase Project Title Project Number
STAMP : .
Engineers: AL, Constructlon BlD DOCUMENTS Bu||d|ng 4 Building Number
IMEG Corp. Calvin L. Hinz Architects P.C. HHE
15 Sunnen Drive, Suite 104 3705 N. 200th Street and FaCIlItIeS : 4 :
St. Louis, MO 63143 Elkhorn, NE 68022 Management  |[Approved: Location Drawing Number
(314) 645-1132 (402) 291-6941 Wichita, KS
U.S. Department FU LLY SPR'NKLERED Issue Date Checked Drawn 8_901
Revisions: Date: VA of Veterans 9/23/2021
Affairs
VA FORM 08 -6231 1 9 3 4 5 ‘ 6 ‘ 7 8 10




